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OMPF REASONINGR ¥ ]II: or all govt. exa BY VIKRAMJEET SIR

1. After interchanging the given a) 195 | b QOO\/
two signs, what Wll.l be the value c) 205 d) 190
of the given equation? |

X and =

feu 7o T gl 1 299 ° 95 & 95

fr=fafEa IETo 1 99 1 80

x 3T + | 2
47+13+'/65\f<5-16 —s YT+ IINEB 516
CHSL Tier-1, 09/03/2023 (Shift-1) U7+ |66-16
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OMF REASONINGR##H! or all govt. exa BY VIKRAMJEET SIR
2. By interchanging the given two %“ " i +2+T=17
numbers (not digits) which of the ?O ey -
following equation wall be % FFIXA-2=20
4 and 3 c)4x3+7-0=16
& T < gEms (HFAF F @) F ) f X ft3+ 1 =30
A9 ¥ dead W fAefafad 9 1 2
FH-T1 Ferw [ fem? @XX3‘3'7—/"'7:7':'7
4 3 3
. Eae oo e = (B Y Y -2
CHSL Tier-1I, 09/03/2023 (Shift-2)
3+28-2 =(29)
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3. By mterch.angm‘g the given t.wo @) Both I and I1/] A1 11 2]
signs which of the following

equation Willbe correct? (b) Only 1/%%% | |
+ and = (() Neither I nor /:‘T dl ] ﬂWj{?TII

feu U T 9= 1 A9 § 9501 W %mly [1/3ae 11
frafafaa o |9 F9-T 9o 98

A
+31‘T'{‘ X
Yoo os s 2743-18X379> 213 WXL

0\

)/—\_))—IHX)"I"

A
&l)mm- /=193 120 +8%125 16T - i
CHSL Tier-I, 09/03/2023 (Shift- )’)'24_/8’)&)/2 )&L ~7 = H:ﬁ lci
2
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4. By interchanging the given two  (3) Neither I nor II/3 @1 3R 7 @ 11
signs which of the tollowing L - |
(b) Only 11 /94 11

equation will be correct? |
%( nly 1 /<hdd |

+ and -
ffumu g famiF AmE G a€ead W (d) Both I and II/1 3R 11 g
frefafad & 4 #F-a1 T (Ed)

"Tm'/

«A‘//'ll—l/ /+1)=11—>>H‘|’}/2/VZ—”
Y 15 ~ ,-1/3/_,<>=_3;>|45+q o = 2Y F 2%
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5. By Interchanging the given two  (a) Neither I nor Il /4 11 % 7 111
numbers (Not digits) which of

the following equation will be 9} Oy 1/t X .

correct? M&mh [ and 1I/1 AR 11 "
3 arfd‘S | o _ (d) Only 1/%ad

& e q el (2FH1 FI TE) FH

AE § 9eod W fEfafad 5 4 .

3 3T 8 2 -
30 60 K% 1217 > grAr381= 18 17

W(H‘%_,Vg?zx%:(; @ﬁﬂ.%-’f{ = g '-/:é
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6. By interchanging the given two (a) Neither I nor 11/ @19 &1
signs which of the following (b) Only 11/F9@ I

equation will b correct? |
el () Only 1/#3 |

feu e g f9=1 1 3199 4 95+ W %nth [ and II/1 SR 11 =
frafafad § 9 :F-1 gH 92
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7. By Interchanging the given two )@) 18 x 7 + 6]- ﬁ =17
numbers (Not digits) which of FPYera Tr-
the following equation will be 2 U S—

correct? (%h— )— 4 X %=—l()/
4 and 6 (d)6+3+9-4=7

al T3 31 93 (AR FH F281) Fl
AT s r{frrd?i WPfZTT;TT'W feifaa o 9 (+9-2 =]
S H-H1 HHIR T el a1/ -

4 37 6 W~ 2-6x3

CHSL Tier-1, 10/03/2023 (Shift-3)
2 =R ==|&
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@ 6 XQ "I')Z/Z y 8. Which two numbers ( not digits)

should be interchanged to make
Ygt+6 -4 =>50 the given equation correct?

N ————

U TT G0 1 &l FE & o
@ X 2—")2_:}6'_‘1 fFa =1 wemaA (H*l H1 T@I)
|6 +2-Y = 1Y 99 H Fecl Heu?
8x6+12+2-4=14
CHSL Tier-1, 10/03/2023 (Shift-4)

b@Sand6 WandG

(c) 12 and 14 (d)2 and 4
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> 9 By 1 | |
) : y interchanging which two
@ \3"'%—‘_/3’)(27_'6: numbers (not digits) the given

13+ Q1—16 =78 equation will be correct?

o g1 T&neT (371 &l F81)
A9E | ggod W g T g
qel &1 Sa?

13+ ) 26 1 13+9+78x27-16=3
')_‘7)( CHSL Tier-1, 13/03/2023 (Shift-1)
F3and 78 K978 and 27
<3 (c) 13 and 78 (d) 27 and 16
13+26-1¢ + 3
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8’8

10. If ‘A’ means *’, ‘B’ means +’,

‘C’means 4+’ and ‘D’ means -,

P then what will come in the place
%.:_ +£3-IMX S+ ¢ =-20f ?’in the given expression?

() g ‘A’ 1 3G X, ‘B’ W AY <, )C’

2té63-70 + ? = =2  FH I+, D F HA <, g a feu

65~7°+?=“Z 0 =Sk | P27 & T YT 1 ST ?

' 94B47C63D14ASC?=-2

—S"'.?:“Z (a) 7 573
é (c) 4 (d) 6
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If x means '+', 'y’ means '-', 'z’ means '+' and 'p' means
'x', then what will be the value of 10p 2x S5y 5?

afx x @1 a1d '+, 'y W Ad =, 'z 0 '+ S p' w3
'x' g1, @ 10p 2x Sy 5 & WH T EA?

(a) 25 (b) 10

(c) 15 (d) 20 .

(e) None of these / 378 | #hiZ 7l
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If '~ means '+', '+' means -, 'x' means @and '+' means
'x', then whihc of the following equation is correct?

afz & ard '+, e @ g = @ ot (e e
3 'x' g, a4 o for@ T wuiteton ¥ ¥ @-|r gt
2 v 82
o~ S+YX )P Ftsfe— (a) 30+5-4+10x5=58 )O

D . (b) 30 +5+4-10x 5 =22
Lo-§ KUY B - (c) 30-5+4+10 x5 =62

30—20o+2L =12%2 /(d)30x5-4+10+5=41\—
%) None of these / 370 | @hig 7l

G

2
30+S-UXIB =& + 42
W5+ YXlo=%
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IfP=6,J=4, L=8and M = 24, then which of the
given numbers will be the required value of the
following equation?

afe P=6,J =4, L = 8 3T M = 24 &I, ot <t 712 W& o
H wA-dt wEn freafafea adteor & srdie 9e gnm?
MxJ+L+J=7?

(a) 16 .— (b) O
(c) 36 (d) 8
(e) 52

}%X‘/l =g+ Y

| 2ty
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If 'A' means '+', T means 'X', T means '+' and '0'
means ~-', then 6 S8A1 403=7

aﬁ .A'ET Mo_’_o, 'D'W M'X', 'D'm 31'&'-!"3#!"9'357
3d '~ &, AW64C18A 1601403 =7

/(a) 69 (b) 75
(c) 78 (d) 93

(e) None of these / 378 | &g Tl
B

MR 163X —23

C+6YY-3 = €9
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If'A'means '+', 'B' means -, 'C' means 'x' and 'D' means
'*' ' then 18C 14A 6B 16D 4 =7

afg 'A' @ 314 '+, 'B' &1 379 -, 'C' &I 3% 'x' 3R 'D' T 374
'+ ®,A18C14A6B16D4="?

(a) 288 (b) 1208

c) 254 (d) 63

(e) None of these / 371 | @i Tal

l/f
1AM+ 66— L= T

)S2+4-Y =2Sy
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If'A' means '-', 'B' means '+', 'C' means '+' and 'D' means
'x'. then 15 B3 C24A 12D =7

afg 'A' T 31d ', 'B' &7 374 '+, cwatzi' ' 31T 'D" T 31
'x'&,@M15B3C24A12D2=

(a) 34 (b) 5 L/

(©) - 23 (d) 2

(e) None of these / 370 | &hIg &l

o
35 =R4+24 =12 2

S -
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If '+' means '+, 'x' means '-', '+' means 'x' and '-' means
'+' then what will be the value of following expression :

gfg '+ T 379 '+, 'x' T 37 =, '+ T 3 'x' 3T - & 3
'+ 21 af Freafeafaa a9 &1 9= T g2rem?
9+3+4-8x2=7

1 3
(a) =62 (b) 6,

3
@) 18 @ -1

(e) None of these / 370 | i3 &l

9’/??04—1—{2 2.
(2 t8~2= |
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If 'x' means '+', '-' means 'xX', '+ means '+' and '+' means
'~'then (3-15+11)x8+6=7

afg 'x' & e '+, = @ 3G 'x, '+ @ G+ 3+ e
—E,A(3-15+11)x8+6="7?

//ﬁ) 1 (b) 4
(c) O (d) 8
(e) None of these / 378 | #hlg T&l
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If'+' means ', '+'means '+', '<"'means 'x' and '>' means
'+ then9+7<8>(4>2)+5=7

afg 'x' @ e '+, = @ 3d 'x', '+ w A '+ 3+ T 3h
~E,M9+7<8>(4>2)+5="7?

%a) 32 (b) 18
(c) 16 (d) 11
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Which of the following interchange of signs will make
the following equatior@:im\

frefafas ¥ 9 F-ar fog wew agem 9 Fefafas adesor

?

5+3x8-12+4=3
(a) + and/ 37T +

= (b) d/3it - D9
= CXRF] %/Vr +an
> 2‘14—{2—:—:6 c) - and/3f /
S /:d)+and/3m'x

2
5+ A M-
1-1=73
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If 'x' means '+', - means '+', '/' means - and '+' means
'x', then which of the given option is correct?

afe x e, T ord e, /T e i e o

'x',ﬁmmﬁmﬁﬁaﬂ?-wmuﬁﬁ?
/(a) 25+10-5/ 10 x 3 = 43

(b) 25-10x5+ 10 / 3 = 72

(c) 25x10/ 5+ 10 -3 = 12

(d) 25/10+5x10/3 =18

.
2S Ko —&§—1o +5
SO-|O+3 :\43
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If '+' means '+', '-' means 'x', '+' means '-', 'x' means '+
and '<' means less than, then which of the following
option i

gfeg '+ T 379 '+, = T I3 'x', '+ w3 - X T A+
3R ‘< &1 ad W &, A Frafafaa fawent # | S9-81 1@

S 22
Q/é—/f)-—l <éo—‘7)-.'—2<__(a) (10 +2) + 7 < (10 + 7) +2)<

(b) (10-7)x2<(10x2)=-7>X
-2 < = %10x7)-2<(10-2)x7—560 +—9x2<éox2)+7
2 (d) (10 +2)+7< (10 +7) x 2 L 2
(lox7)+2<(lo+2)"7

701—2<%\1
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If '-' means '+', '+' means 'x', '+' means '-' and 'x' means
'+'than, which of the equation given below is correct?

uﬁ: "o T '+, +a;ranfx +manf ' 31T 'x' T 3T
Sz-v\xg*_/q{/z 34 e———JM/SZ 4+5x8-2=36

(b) 43 x7+5+4-8=25

(c) 36 x4 -12+ 5+ 3 =420

(d) 36 -12x6+3 +4 =60
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00)7 1 A4 AREASONINGERI LS AR I PR3] By VIKRAMJEET SIR

If '-' means '+', '+' means 'x', '+' means '-' and 'x' means
'+' than, which of the equation given below is correct?

afg ‘= &r e '+, '+ T e x, '+ T e - 3T 'x T 3T

: '+ g1, ar e fau gu wdteol § | SE-ar w2
)%—g+\(z‘%87g<hﬂ/18+3x2+8-6=10

6/[8’-—/%)(2.1“8“6 e—(b18-3+2x8+6=14

(c) 18-3+2x8+6=17
= d 18x3+2+8-6=64
2+8-6=I7
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By Interchanging the given two numbers which of
the following equation will be not correct?

3 and 8
21 TE HEel W ATUE_H WER g99e W fAefafaa § |9
- aﬁw—mmnﬁ@M?

= 4 e XB: é——(a)7+3-4+2x8=9)Q
T8 % - (1 %6+2x8+3-1=17
B/é/_z_zxg‘f-g—l (c)8-3+6x2+4=-2
0 4-£~]= k1] WI+=GsEni=2

Download RG VIKRAMJEET application for complete course.
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By interchanging the given two signs which of the
following equation will be correct?

+ and +
fau v =t fogl &t 3muw ¥ W agen W FrAfafeas 9 |
a‘h—m?

- 3 . offT +

g/-:-}/{x§+2—5 e— P8 +4x5+2-6=7

T BP16+8x2+6-4=8
10F2 € B +2%x6+3-7=50

7—}6’%/8/)(2-*‘6‘“1 (d)11 +8 x 16 + 4 -7 = 20
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By interchanging the given two signs and numbers
which of the following equation will be not correct?

xand -, 8 and 4
fau v It foagl aar wEet St waw age w, fefataa
ﬁﬂaﬁw-mmwm’t?

x 4T -, 8 AAT 4

L+FRI—YR2L =] eJ)a+3x8-2+1=3
+23- &= 8x2-4+6+2=1
A 3 /(a)l?{m II 1 (b) Fae m"
()T EITE II (d) Faet 1

U—-2LXQ+%+ =
W~\é+3:~q¢/
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Select the correct combination of mathematical signs
to sequentially replace the * signs and balance the

given equation.

nfordra fogl & 39 W&t 9O & waA shitau 59 wites wu
¥ * & e W TEd u faar war e d@qfea gt s
35*5*7*2*19=42
;gxg /-Z'i-\cf Q_‘_%, - (b) +, x, +, +
ZS 2"\-“1 \1’2_ (c) +, = +, = (d’ Tp Ty -
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Which of the following interchanges of numbers and
mathematical signs would make the given equation

correct?
Fram SRR ST e e r e e A smen o
fer <1 fogl =t ww agern grm?
q 729 x 81 + 20 + 16 - 6 = 50
243K +16-20 46 and 20, x and + / 6 74T 20, x 7 +
SsYy-y—= So (b) 6 and 20, x and + / 6 4T 20, x TYT +

(c) 16 and S50, x and + / 16 99T 50, x 94T +
(d) 16 and 20, + and + / 16 99T 20, + 9T +
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Select the correct combination of mathematical signs
to sequentially replace the * signs and to balance the

given equation.
R L T I rTE R
W W Hhites ®9 ¥ 1@ 91 0 fEar mar gdteor d@afed et
S ST
LS MO -2 $13 25+5+10*2+13

25;5_‘,;2““3 it A~ ] E""’n;’-’ +, =
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Which two signs and two numbers should be

interchanged in the following equation to make it
correct?

fau o wdiEToT @ dqfea @ & fou fea-2 d@wEnet ain
fer 2t fogl = e agerET 2rm?
14 x6 + 12 + 15 - 9 = 203

\4>()§+)Z-/é —F o )18, 6+
1218 -0
2\0+2- 922"33 (€)12,9, +, -

(d) 14,6, +, X
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